Microprocessor architecture and
operations of 1ts components
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Microprocessor initiated operations and Bus organizations:
Microprocessor perform four operations-

-Memory Read: Reads data from memory
-Memory Write: Writes data into the memory
-1/0 Read: Accept data from input devices
-1/0 Write: Send data to output devices

for commution microprocessor to peripherals need three steps:
1. Identify the memory locaton

2. Transfer binary information
3. Provide timing or syncronization signals
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“9‘“’\*'\(’4; Vb Kiames ( Ro, A ,A ~-- D\\G_}
- T\vs (S AL C‘\'_VQQ\-“C)MQL L—Q*mm M P '\'-Ow*hbg

T Fundhoavns - Ao \demty (g TR0 X o
ON pe~x\Prexal locoMown |

— Locadom {5 (e b\'Y\ow!C»] ox coled
U_J (i\(?.%% .
\ _— AWy add vo ey
} />} Qo-b36] 5 AO\*O\
Qoo |
1ébl+ iooQ_

™Mevox
Alad vess /_’L_\ ° é’
Puwy



@06 5 Bus  Stvactave —

oty
ALl

1‘

Corv\“vfbg\ Rue T — >

DM — b A ddvess Lives
Ay

9 _ 5 53¢ My beahin

= Mk

= 1% YA \(Q\T‘Q%"\)?G\\F\afv\
o~ Qw\ow\f\\p\Q__

IOOOOO\O_}J\OOQQO\\\_‘ |
Qb Brd S lpbkik

| \




| |

05— o7

U
oo H L\-\e\\.o A\QQ\Wl)

Note— 3935 = |, bl Madwes Mnes
Wl Do D0 =y 9o Iy "
P e~ oo f~oce ooy = 22 vl
Data Bus:-
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Control Bus:-
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Internal Data Operations and 8085 Registers:-
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